
Examples to even orthogonal PieriPiotr Pragacz and Jan RatajskiThis manuscript contains a collection of examples that may be helpful inreading our paper: A Pieri-type formula for even orthogonal Grass-mannians, Fund. Math. 178 (2003), 49-96.After these examples, we give an errata to that paper.Finally, on page 10, an errata to our former (related) paper is added.Example 1 � = (22; 20; 17; 15; 13; 12; 8; 6; 3),� = (23; 22; 19; 17; 16; 12; 11; 8; 6; 3).The maximal deformation changes
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Here is an example with several e-transformations:Example 2 � = (25; 7==22; 19; 18; 15; 13; 11; 9; 7; 6; 3),� = (25; 8==24; 22; 18; 16; 15; 14; 12; 9; 7; 6).Three e-transformations change� � � � � � � � � � � � � � � � � � � � � � �
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(Here m � 25. In all later examples one should take m large enough.)Here are some examples illustrating how do act on generating functionsoperators composed of divided di�erences and simple re
ections.Example 3 We apply the operators of boxes from left to right to Ea andobtain (scalar)Ea0; � denotes a D-box and empty boxes are �D-boxes.m = 9 a = (a9; a8; a7; a6; a5; a4; a3; a2; a1)1. Action of the operators associated with a row in Dt�:��� � � � �9 8 7 6 5 4 3 2 1 a0 = (a9; a8; a6; a5; a4; a3; 0; 0; 0)2



2. Action of the operators associated with a row in Db�:� � � � � �9 8 7 6 5 4 3 2 1 a0 = (a8; a7; a6; a5; a4; 0; 0; 0; 0)
�� � � � � � �9 8 7 6 5 4 3 2 1 a0 = (�a8; a7; a6; a5; a4; a3; a2; 0; 0)
�� � � � � � � �9 8 7 6 5 4 3 2 1 a0 = (�a8; a7; a6; a5; a4; a3; a2; a1;�a9)

� � � � � � �9 8 7 6 5 4 3 2 1 a0 = (a8; a7; a6; 0; a4; a3; 0; a1; 0)3. Action of the operators associated with a sequence of consecutive rowsin Db� containing only D-boxes.
���� � � � � � � � �� � � � � � �� � � � � �� � � ��9 8 7 6 5 4 3 2 1a = (�; �; �; �; �; �; b; �; �)

a0 = (�; �; b; �; �; �; �; �; �) ���� � � � � � � �� � � � � � � �� � � � �� � � � � a9 8 7 6 5 4 3 2 1a = (�; �; �; b; �; �; �; �; �)
a0 = (�; �; �; �;�b; �; �; �; �)The symbol � denotes the operators which move b; in the secondpicture, a0 is obtained after applying all operators of boxes preceding a.Here are some examples of the con�gurations of three �D-boxes in thebottom part that give vanishing:

Æ ? � � � ? Æ ? � � � ? Æ
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� ? � � � ? Æ ? � � � ? ÆÆ �
? � ? � � � ? Æ ? � � � ? Æ� Æ also: Æ � ? � � � ? Æ� Æ(Above, \?" can be Æ; �, or �; and the skew directions are all antidiagonal.)We now pass to examples illustrating the recipies for �nding the uniqueD such that @D� (E) 6= 0.Example 4 � = (21; 11==22; 20; 17; 15; 13; 12; 8; 6; 3) (type 1),� = (18; 11==23; 22; 19; 17; 16; 12; 11; 8; 6; 3) (type 1).
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We perform the maximal deformation of Db� in Db�:
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The �nal deformation of the v-ribbons (here only the v�-ribbon is deformed)looks like:
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Example 5 � = (24; 7==24; 21; 18; 17; 15; 13; 11; 9; 4) (type 2),� = (21; 11==24; 23; 22; 17; 16; 15; 13; 9; 7; 3) (type 1).
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We perform twice the e-transformations:
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We deform the z-ribbons and the v�-ribbon from Dt:
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Example 6 � = (24; 14==22; 20; 17; 14; 11; 8; 4; 2) (type 1),� = (22; 5==24; 23; 19; 17; 14; 13; 10; 8; 4; 2) (type 2).
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The resulting deformed diagram is:
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Example 7 � = (19; 13==20; 16; 14; 11; 10; 9; 6; 3) (type 1),� = (23; 9==20; 19; 16; 15; 11; 9; 7; 6; 4; 3) (type 2).
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We perform the push down operation:
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We break the ribbons:
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We deform the v�-ribbon from Dt (and here also the v�-ribbon):
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Example 8 � = (25; 7==22; 19; 18; 15; 13; 11; 9; 7; 6; 3) (type 2),� = (25; 4==24; 22; 18; 16; 15; 14; 12; 9; 7; 6) (type 2).� � � � � � � � � � � � � � � � � � � � � � �
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We apply the maximal deformation:
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* * * * *Errata to: P. Pragacz, J. Ratajski, A Pieri-type formula for evenorthogonal Grassmannians, Fund. Math. 178 (2003), 49-96.It should read:p.543 \ ... = �t� + �bs,"p.57, line 11 under the picture: \ ... the �t�th element ... "p.58, line 3 over the picture: \ ... the word obtained by ... "p.6313 \ ... below. With variables x1; : : : ; xm replacing "1; : : : ; "m, let "p.645 \ form a regular sequence. The ... "* * * * *
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Errata to: P. Pragacz, J. Ratajski: \A Pieri-type theorem for La-grangian and odd orthogonal Grassmannians", J. Reine Angew.Math. 476 (1996), 143{189.It should read:p.14711 \ ... and (dr) increases more slowly than (vr) ..."p.14713 \ vm�n � "p.1499 \ variables replacing e1; : : : ; em.) By [D1] ... "p.1495 \ +(�1)i�1hi( "p.1503 \ Pk+l=i ek( "p.1504 \ Pk+l=i(�1)lek( "p.1514;5 \P (T ) = ... "p.15615 \ : : : ; ai+1; ai�1; : : : "p.15711 \ ... class of the dual of the tautological ... "p.15810 \ : : : Æ @11 Æ s12 Æ @13 Æ s14 Æ @5 Æ : : : "p.15812 \ : : : Æ @3 Æ s4 Æ : : : "p.1688 \ ... such that Dt has rows of decreasing lengths "p.1683 \ ... in Dt� nDt, "p.1791 \ ... of boxes ... "p.1807 \ the row ..."p.1867 \ �a(E) "p.18710 \... for the non-extremal component ..."Corollary 1.7 follows from the isomorphism displayed before Lemma 1.5 be-cause ei(x21; : : : ; x2m), 1 � i � m, form a regular sequence.In the picture on p.161, each \; 3" is to be changed to \; 2" and each \; 8" isto be changed to \; 3".Of course, the picture on p.179 is reproduced upside down.In the lowest picture on p.181, the length of the lowest pure v-ribbon shouldbe 3 (and not 2).In the second picture in the last row on p.182, in the �rst bottom row shouldbe: \ � � Æ Æ Æ ".
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